
ECOA(HN)-05 200 

West Bengal State University 

B.A . ./B.Sc./B.Com ( Honours, Major, General) Examinations, 2014 

PART-III 

ECONOMICS - HONOURS 

Paper-V 

( NEW & OLD SYLLABUS ) 

Duration : 4 Hours J [ Full Marks : 100 

Candidates are required to give their answers in their own words as far as practicable. 

1. 

The figures in the margin indicate full marks. 

������-.n,�1 

� "f���� 91� � I 

( NEW SYLLABUS ) 

Group-A 

�'Sf - � 

Answer any two of the following questions : 

ell C'<fiR � � ffl � 
a) What is the price definition of factor abundance ?

{;'.� {;� � �������I

2x3=6 

b) State the Marshall-Lerner condition for successful devaluation of currency
of any country.

� �� � � � '514$J.6111!-ll�� � �-� � f<ls ?
c) Distinguish between Tariff and Non-Tariff barriers of international trade.

d) 

e) 

Give an example for each' case.

'511<g�IK5<P <fl�, �� '8 �� �M<l��I�� � 9flffi �� <m� � I
What is infant industry argument for tariff protection ?

151N'11H �� 9ft'ffi ·fit�m· � f<ls ?
What is Metzler Paradox ?

C�etdilll�-i:I � <15fl<lS � ?



2. 

3. 
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Answer any one of the following questions 

ell C<l5R 11)� � W.4' � 

1 X 9 = 9 

a) Establish a one to one correspondence between commodity price· and
factor price ratio in absence of factor intensity reversal.

b) 

�9ftt.TR-MM<:$'5BI �� '51'1� � �9{1'5 '6 �� �91™

� l!l<llft �4 � I �ct � I
What is optimum tariff? Derive the formula for optimum tariff. Derive the
optimum tariff rat� for a small country.

� � �� $ � f<ri � ? <fSNT '511$1Ltl� i3� �<:flt � � I

� � 9ft'ff � '51tsi1t1� �� � � m
c) State and prove Stolper-Samuelson theorem.

�9ffiP1111(.�6plt-i� �� � '6 �ct � I
Answer any three of the following questions 3 X 15 = 45 
ell" C<1SFf � � "ffi �

a) 

b) 

i) Explain two possibilities of potential gains from international trade
in an 2 x 2 Ricardian set-up.
Bl<fll�I� 2 x 2 � �� 'flt�� <m� � I

ii) Derive the World Production Possibility Frontier in 2 x 2 Ricardian

iii) 

i) 

ii) 

set-up.
Bl<f51�1'!!l 2 x 2 � �-��'9f11f-l � � RGfu � 1 · 
Comment on the role of demand in Ricardo's comparative cost
theory of international trade. 8 + 4 + 3
Bl4'1CSI� '?1-il�il14' �������I
State and -explain the basic assumptions of Heckscher-Ohlin
theorem.
�--am -nr� � � w-pJR-<!3M <m� �9Pef� �,
Establish the Heckscher-Ohlin theory of trade in terms of physical
definition of factor abundance.
�9ftt.TR� � ��� � '511�1K3<15 ,nf� �-'6ffi � <m�

�I
iii) In what respect does it represent an advancement over the

Ricardian theory of trade ? 5 + 8 + 2

C<fil-{ Wfi C� \fl� � Bl�l�l� �� � �9Nl t'-� "1 ITTFf I

\ 



ECOA(HN)-05 202 

4. 

c) i) Distinguish between Autonomous 
transactions. 
�,� -e �� cai;,a-tc�� 9!1� MS ?

and Accommodating 

ii) Show that Balance of Payments is always in balance in 
international trade.
� �. \5ll��IN><!S �@ITTl" � � $ ·�· � l�fT<l>l<l 1

iii) How do you relate the current account deficit with the.Government
budget deficit in domestic private investment saving sector ?

2+7+6
� � � � � � � '6 \5l�1�IDci ���-f<wmn,;i �

������,
d) i) Show that investment multiplier in an open economy is usually

different from that in a closed economy.
2r-lTCf "<P..v,:r �. � "\51"� AAlm-;i �"f� ':il'Ff "fl�Cf\5: '!:ii� \51"�
�� '5fe� 91� W � I

ii) Determine the value of balanced budget multiplier in an open
economy. 10 + 5
ul�� ���rm��� �RCBI �1

e) i) .Distinguish between nominal and real exchange rates.
�ul<l,����9f1�f.wfxt�,

ii) What is meant by a currency being at a three months forward
premium in foreign exchange market?
C<f)R Clfllef:<1 � �<Pi� � '51f� � � W'I �� � �
�c.;��rn?

iii) How are the spot and forward mar�ets of foreign currency linked ?' 4+4+7 
� � �E!.�M<IS � ul<I, 151f� �"""@ �·�? 

Group- B 

�'5f - � 
Answer any three of the following questions : 
elf������: 
a) Distinguish between fiscal deficit and budgetary deficit.

W>l<qlllc'f � '6 � � �� 9f1� � I

3 X 4 = }2 

b) What is meant by 'free rider' problem in the provision and financing of
public goods ?
� � �� <ll�l<t<is ul<f, �� 2lrnl'Si�� '51'� �mr� �. ·wn �

fi' '1�'1JIT6 \5lll"1lb.,l <P.<F!' I
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c) What is meant by 'double taxation of savings'?
��m �� ·� <frn � �91· � f<ls � ?

d) Explain the concept of ad ualorem tax.
1"1lMN34> � �� <m� �,

e) Explain the concept of 'Laffer curve'.
·�·����<m��I

Answer any two of the following questions : 
�C<ISR����: 

2 X 14 = 28 

a) Compare the effect of a proportional income tax with that of lump-sum
tax (per head tax) of equal yield on the work-leisure choice of a worker.
� ��� � '9� 'l_ft"?l � � � "5iFi� � '!3 '11NIIHPl""'ffl
�flffi� � �'1"?-f �� W:� I

b) i) On what grounds would you justify the benefit approach to 

c) 

d) 

taxation? 7 
� � <ffl� 't9f<IST� �"?-1 9fN � �Fl I 

ii) Under 'Lindahl' pricing, 1s it possible for an individual who benefits
from public good, to be assigned a zero price? - Explain. 7
� � R�9 � � -.nf1& �<fJ14t !MT c� � C<1SR t� �ci

i) 
�� 'tl1T1f{T�� f4>? �9 �,
In how many ways can the term 'equality of sacrifice' be
interpreted ? 6
� "1R� �� <15'5 � �� 01-em llrn

ii) What are the conditions for having a progressive tax structure under

i) 

'equal proportional sacrifice ? 8
''fijR ��Gm�·��� �TtS!l 21� �
Explain the concept of 'Excess Burden' of taxation. 'An indirect tax
imposes an excess burden compared to a direct tax of equal yield.'
Do you agree with this view? Give reasons for your answer. 11
'\!llN>Mto- � �· �� �cint- <m� � 1 .. � <fim �rn ��si
� � '51N>ffi'2' � '511m9f � I " '5l'l'\>fR Bl> �� � �fl{'f � ? '5l'l�
� '9fN � 01� I

i1) Explain how far such alleged excess burden is due to a limited
consideration of the choice problems. 3
\!llN>Bl-& <R � � �� �� ��R �r\f� >1�1>mltc<P � �rfl
Of<3� � ffl � � <ffi� � I
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West Bengal State University 

B.A./B.Sc./B.Com. (Honours, Major, General) Examinations� 2014

PART•III 

ECONOMICS - Honours 

Paper-VI 

( New syllabus and Old syllabus ) 

Duration : 4 Hours Full Marks: 100 

1. 

Theflgures In the margin lndtcate full marks. 

Group. A 

�,t-<IS 

Answer any six questions from the following : 6 X 4:: 24 

c

a

b

)

) Briefly mention the m

plan period 1n India.

-9irn<fl11;i1�1cai � �

'51tC'115i=ll � I

) State the methods ap

Write a short note on 
ajor changes In occupat.Ional pattern during the

� fiCTltt� Cl] �� � � � �� "S{�� 

plied ln measuring poverty in India.

the lmpact of globalisation on Indian agriculture.
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d) Distinguish between marketed surplus and marketable surplus of food­
grains.

e) What are the problems ip measuring the extent of unemployment In 
India?

O Discuss briefly the problems of non-performing assets In Indian 
Nauonallsed Banks. 

g) Distinguish between money market and capital market In India.

h) Discuss the major features of New Industrial Policy In the post­
globalisation period.

l) Write a short note on the concept of inclusive growth.

Jl Mention some of the Impacts of globalisation on export performance 
of Indian economy. 

Group-B 
�'St-� 

A11swer any two of the following questions : 

C<I �lifu �� m � i

2. Discuss the problem of growth along with equity In Indian economy.

'Sr:� 151� 1N\ 'G � �'�� � '511Cc'llbrl1 � I

2 x 8 = 16 
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3. Analyse briefly lhc impact of Green Revolution on agrJculluraJ. employment and
income distribution in India.

�<f� � �. ffl� -!l<I� � <Ii,� \5� ,i'!� ��C�9 �i<f �(.<fi 'i�f-4;� rlewl'l
�,

4. Write a note on the Banking Sector Reforms of 1991.

5. Discuss In brief the Important measures taken In India to ensure 'Capital
Account Convcrtlbillly'.

Group-C 

Answer any four of the following questions 4 X J 5 = 60

6. What do you mean by 'food security' ? I low far Government Intervention In food·

grains market will ensure food security in India? 3 + 12

'�ffJ �l' � f<tl �� ? �� �C>lJ� �4 � �'iti91 �'=v-t � �

>ffei�<t>m?

7. Critically examine the disinvestment policy of the government adopted in Indian

Public Sector.

8. What are the major objectives of land reforms in India? How far these objectives

arc achieved ? Critically examine. 6 + 9

�Hf������ �J�� m� � 11!1� �'{)� �� "1f� �-� Ol 11'�

>!llltcilr5..fl>i�<ts1C� 1:511tcilr5..fl � I
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9. Discuss In detail the monetary policy of the Reserve Bank of India.

l 0. Critically discuss the Centre-State financial relation recommended by the 13th 

Finance Commission. How· far the recommendatlotls of different finance 

commissions have improved the financial relation between ceptre and states? 

7+8 

� �( <t>fii•W·rn �� � �-� � � m1ifu '5T�l�I � l � 

'5T'<f <t>fii•1<.�'SI ��� F1i �� � '6 ��m � � '5:f�C\5 � � � 

�l?:'"llti--ll � I 

11. Comment in detail on the balance of payments situation in 'India during the

plan period.
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West Bengal State University 

B.A./B.Sc./B.Com ( Honours, Major, General) Examinations, 2014

PART- III 

ECONOMICS - HONOURS 

Paper-VII 

( NEW & OLD SYLLABUS ) 

Duration : 4 Hours I I Full Marks : 100 

Candidates are required to give their answers in their own words as far as practicable. 

l. 

The figures in the margin indicate full marks. 

ffl llQSP'I� R� � C-G'f� <fl,.'.n1i I 

2fRt� ���-0M 91� om� 1 

( NEW SYLLABUS ) 
Group-A 

�'51 - � 
Answer any three of the following questions 3 X 4 = }2 

QIQ:ISR�����: 

a) Give classical definition of probability and explain its limitation.
'>f� �JlPl<7llc'f ��� � �4� �·� �':\'\'51 '511C"'1R <f$� I

2+2 

b) "Mutually exclusive events are independent and independent events are
mutually exclusive.·· - True or false? Give reasons. 4
"9fBF9rf.<r<Jl ���N3>1i_D<f$ ��M" �ij)-f 1£1�� �tl'R �-<!3� 9{Bf�

���'!b<!S t" - � ;ii �01 ? ·�"TI19 cefm � I

c) For a binomial distribution, the mean and S.D. arc respectively 4 and /3.
Calculate the probability of getting a non-zero. value from this
distribution. 4
.£J<f>ft N9f'i f.rr� ��ff<!> '8 "N<!S 9fl� �Qffi!Ft-1 4 .£l<R /j I .£]� RC<M-f Cflf� -r,f

�� �-n ��� 9f1'8� ,,� <f>'i3 G1 Rem �1A" I
d) Find the expectation of the sum of points in tossing a pair of fair dice. 4

1_fil 9f'll>� � � <ffi:t oot � 9fnl""-{; 9fNH1'1 � �Rf C.mi �9re<f5 �

�., �?
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2. 

e) D1stmguish between 'parameter· and 'statistic' in sampling theory with
example. 4
�T�� -r...r,n «1 ·'l>frr�1�u1�· -e ·�nffi"lffi<i>' c.J� 9fl-4'�1 Ref� <P�-f,

f) Define a random variable. Frnd the probability that a continuous random
variable assumes a definite value. 2 � 2

.g<Pm �')j�<f 6c'lc,cf)� '>I��, �.f , .!l�m- i.!i!F<i�i:f �.i'l"�<f bofc� .g�ft f.fffi� �R �'1

�n, ,i�-i..;i t;rcrn <f)�, 

Answer any one of the following questions 
� C<:1)1.f Ill� �<:!f� �� �rf 

1 x 8 8 

a} i) Define a probability density function. 
�-:il \:fr!,.- '51C�<I> <fltr'<fl <fC<>1 ? 

2 

b) 

ii) Evaluate the probability density function from the following
distribution function

i) 

F(x)= 

2x
2 

-
5
- , when O < x $ I

- - + - 3x - - when 1 < x < 2 3 2 [ x2

) 
5 5 2 ' 

1, when x > 2 

� � R� CQft<f> � '<J� \!if(�.;iit R'fil � 

2x2 

-
5
- , ��.f O < X � 1

F(x)= -+- 3x 
3 2 [ 
5 5 

x2 J
2 

, '/�] < X $ 2 

1, ll� X > 2 
What is meant by expectation of a random variable ? 

� D°C'fC"fl � � f<ls C<ITTITTr ? 

6 

2 

ii) There are three boxes containing 3 blue and 1 red, 3 red and
l blue, 2 red and 2 blue balls. One box 1s drawn at random and
one ball is drawn at random from the box. What 1s the probability
that the ball drawn will be a blue ball ? 6

� <ffC'i@ -.rosr 3 ft� '6 l f6 vfl�. 3 � G1� '8 1 ft �<71. 2 it" ol!T� 8

2 ft �uf <fo'f '5lf� I �� � �-pl� .g<l5ft �� @'(3111 � .!J�t \?f.4

CQfC� d .g� R'N"� l ft 4<>1 C�'6NI �"11 � �"1 �<TI� �<f.fl � .,
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3. Answer any two of the following questions : 2 x 15 "' 30 
Ql C<f>l--1 °'liG 21�� �·-:.rn f.i-f
a) i) If three numbers arc chosen at random from the first 30 natural

numbers, what is the probability that they will be in geometric 
progression ? 4 

b) 

21� 30 fG- � ;r��HT C� �l't�<l 3 f6 ;r�� �� 0'8m � I � � 

;r�� �� 21�� ��<f �<Al f.;� �-'11 
ii) Show that Poisson distribution is a limiting form of Binomial

distribution. 8
Cl-i� Ql 9f�-.:f f.;c� fu9N Rc<!"f� <!1� ��Ff� �9f 1

iii) For a Poisson distribution P(X = 0) =- P(X � 1). Find P( X > 0). 3

I) 

�N 911f'St.:r f.;� C'WU£f. P(X = 0) = P(X = 1) �. � P(X > 0)-IEJ� �

f.r� <1>¥�1
Let x

1
, x2 ,x

3 
be a random sample of size 3 drawn from a

population with mean µ and variance. cr2 . T
1 

and T
2 

are
estimators to estimate µ ,
where T1 

= x
1 

+ x2 
-- x3

and T2 = 2x 1 ·t 3x3 - 4x2
i) Check the unbiasedness of li and T2.
ii) Which one is the best estimator ? 4 + 4

X1 , X2
, X3 -cl� 3 IEJ<:fS<rS � � � <!l<lSft" i9'i;pf��n c� � -� �

� � �1 IEJ<J� � a2 I �1 -<!1� � 9f�� � T1 <!Jq� T2 , 

QI� T1 = X1 + X2 - X3 

<!l<J� T2 = 2x1 + 3x3 - 4x2 
i) T1 <!l<J� T

2 
-�� 9f��� ��� 01"'fl I

ii) �� ��� ��9f<JS C<15Rf6 ?
II) If x1 ,x2

, .. -,x
11 

is a random sample from an irifinite _population with

variance a2 and x is the sample mean, show that � L ( x; - x )2 is

a biased estimator of u2 , but the bias becomes negligible for
large n. Give an unbiased estimator of o2 here. 5 + 2



ECOA(HN)-07 214

c) 

d) 

i) 

� W"<li. x1,x2,···,Xn l.!l<IS!t >j$pf,:S<l � l:fl l.!l�it" �':i[ ��� C�<ti

� .....@....,. 2 
-

Crf\()"!Jl � I "'l"ll<l ��"111111� "5'f� CJ l.!l<H � � X. C'f� Cit

� L ( xi - x J2 � cr2 -1.!l� l.!l<IS!t 9f'lf� '9ff.4'il19f<f> �'8 n-1.!l� 'f�E. �-Tif

� l.!l� 9f>lf,� � � l1rn I l.!l� u2 -1.!l� l.!l� 9F-Ji�

���'l�I

Define a Binomial probability distribution. Obtain its expectation 
and variance using moment generating function. 2 + 6

l.!1<15t't N9N � f.tt4"'1t.:i� "f�� Wi, "'if9 �E.� '5119f'lrr� � -!l�

N91li Ht4"1t;i� � '6 � f.{cfu � I

ii) What is a 'Standard Normal distribution' ? State some of its

i)

important properties. 3 + 4

�'l �i5lm f<ll.51ei-i � f<is C<fWA ? \!]1f ��91.cf ��M � I

Explain the relative advantages and disadvantages of sampling and
census methods for collection of statistical information. What is a
random sample ? 8 + 2

�t�fWl� '5� ��� 91.c:fl� �'l \!]cf� � � 91':i\NJ!fft� ��6j"'<JS

'lf<I� '6 ���f61 �'® � I � -i� f<ls ?

ii) In a sample of 100 workers in a factory, the mean and standard
deviation of wages are Rs. 11 ·35 and Rs. 3·03 respectively. Find the 
percentage of workers getting wages between Rs. 9 and Rs. 17 in 
the whole factory, assuming that the wages are normally
distributed. [ Given 4>(+1 · 86) = 0·9686 and cp(+O · 78) = 0·7823,

where q>(z) is the cumulative distribution of standard normal
distribution. l 5

C<ISR �� 1 oo ffi �Nt<P� �1 c-� ciftf� � -s � 9fl�

'l'� 11 ·35 � '8 3·03 W<f.11 I � f<l�t� �<fS � � ��

<15@� � � �Ne� � 9 t1<1S1 \() 11 � � � '51 Rem

�, I C'f'6m � 4>(+1 ·86)= 0·9686 l.!l<l'� 4>(+0 ·78) = 0·7823, �

q,(z) �'1 �I\Slf<I� f<l-l!IVBI ���I I
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( NEW & OLD SYLLABUS ) 

Group-B 

W5t"f - � 

Answer any three of the following questions : 3 X 4 = 12 

a) What is the present value of a continuous revenue flow lasting for 'y' years
at the constant rate of D dollars per year and discounted at the rate of
'r' per year ?

� �f?.">IT.q� 'r' �mf � � � � D � � �9ff� �<I� 'y' <It!.�� �

�������?

b} Find the dual of the following Linear Programming Problem :

� >i�aru:I� C211ffi� �� � >i$1>illlt � �

Max Z � Sx1 + 6x2

subject to 2x1 + 3x
2 s; 5

3x1 + 4x2 s; 12 

X1 - 2X2 2: 6

X1 � 0, X2 � 0 

c) Show that in a two-person zero sum game, Minimax � Maximin.

d) 

�<lSlt � �l61Hl1\¥1f@ ,:-,r Ctfl� C'lWr � Qt Minimax� Maximin.

1 Given the demand function P = r:: . If P = 0. OS and q = 25, find out
4vq 

consumer's surplus. 

� '5R� �c:$ �"i7f P= JC'� P=O·OS �<H q=25 � �
4vq 
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e) Mention· the assumptions on the basis of which the analytical discussion
of Leontief Static Open Model is based.

C<I C<I ���1�fc1.<r �9f?.I �N3 <fSC� fci1S,fvCT1� f�� �\(ji �C'Sc-f� ���<fS '5ll�6'11

<!)m � c">l� ����M �� ��-l 1 

f) Let the marginal revenue (MR) function be

Pm ·[1x:
b

b
)2-c]

Show that P = { x: b - c} is the equation of the demand curve.

�� �-l" �<fS '51m '5JC�1:<1i� �ff-4� �'8m �

. pm • [ ( X :� i
2 cl 

�Fl C� P = {-a--c} �������I .
x+b 

g) Given the utility function· u =. w -· aw2
, a> 0. Consider the domain .

0 < w < -2
1 . Whether the consumer is risk averter ? Justify.
a 

�9f�'>I '5TC�<lf� )lm-��'J �'8�1 � u ,.., w - a w2 , a > 0 . �� domain 16-

�C<w--11 <IS:<1'.:f O < w < 2� . �'&1 Pfi if<t> ��CTI �� '? 1:{f'(?- �;, I

2. Answer any ·one of the following questions : 1 x 8 =- 8

C<I �Trl ..!!�lu- � @'8� frf;i

a) Consider an economy that can produce two &oods Y1 
and Y2 

using two
factors of production labour ( L ) and capital ( K ) and the resource
constraints are given as 
aL1·Y1 +a1,2 ,Y2 = L
a Kl .Y1 + aK2·Y2 

= K
Where au and aKi (i = 1,2) indicate optimal levels of unit factors
requirements. Now with the help of Cramer's rule show that an increase
in the endowment of one factor wilt" increase the output of that commodity
where production technology is more intensive in that factor and reduce
the output of other commodity. 
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b) Consider the following inflation-unemployment model :

p a - T � u + hn

d1t

dt

du

dt

j (p - 1t)

-k(m p)

where p = rate of growth of price level

u ,.. rate of unemployment 

1t = expected rate of inflation 

T = labour productivity 

Cl,� > 0; 0 < h s 1 ; 0 < J s l; k > 0. 

ECOA(HN)-07 

Find out the differential equation in the variable 1t. Show that the 

intertemporal equilibrium is dynamically stable. 
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p - a 7'·- p u + hn

d1t 
dt = J(p-n} 

du dt=-k(m-p)

ell� p=����<f 

222 

a,p > 0; O < h �I; O < j s 1; k > o. 

Ml� (dynamically stable} I 

c) Derive the fundamental differential equation of the Solow Growth Model,

clearly stating the assumptions, considering the specific Cobb-Douglas

type of production function, Q = K u. .L1 u. In this model show that the

steady state value (or equilibrium value) varies directly with propensity to

save and inversely with the rate of growth of labour.

Solow � � ��<f �·PIR�� �91 �� � �<f � Mt�F>rn101 

���� Hern <fl�I -!I��� <fi<!.-\S� ��9fll1,i "m� Q- K u .LJ -u. �RI 

, 
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3.  Answer any two of the following questions 

ECOA(HN)-07 

2 X }5 = 30 

a) 

b) 

i) Set up a Leontief static open input-output model and show how

prices are solved in such a model. 10

�'2� � ''& �'1?-�9fu � �� ffl Of� �� � �

�����I

ii) Consider the following input-output matrix :

i) 

(
0 . 4 0 . 3 0 . 21
0·4 0·2 0·3 
0·2 0·4 0·3 

Check whether the system satisfies Hawkins-Simon conditions or

not. 

Consider the following market model with inventory 

Qdt = a - PPt 

Ost = -r + o?i 

(a, P > 0) 

(y,o>O) 

5

cr denotes the stock-induced price adjustment. All other notations 

�ave their usual meanings. 

With the help of the above model derive the time path of price (Pt) 

and discuss about the natur.e of time path P
1

• 9



ECOA(HN)-07 224 

c) 

ii) Given the demand and supply functions in a competitive

market as

i) 

q 1= 1200 6P
1 

s

qt 2Pr-l

Find out the equilibrium price and quantity. Examine the stability

of the market.

Find out the price level ( P ) in the first four periods following a

disturbance that moves price 200 units above its equilibrium

price. 6

q f:- 1200 - 6/>1 

s

q, = 2� I

21� g �Qr (period) � ( P) f<I'; � "1 � I 

Distinguish between pure strategy and mixed strategy in game 

theory. 4

C� � �'al � 1£Jq� � C<fll"l<.i:1� � 9flffi � I

ii) Consider a two-person constant-sum game where A and � are two

players an.d A's pay off matrix is

'Player A

Player B

[ 62 73] 
Determine the value of the game and the optimal mixed strategies 

for each player. 6 
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iii) 

i) 
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.£J�ft i� <llRF f.ffetg � C<ll'IN·O'f C'>fraf� 411111 f<rr-� <f)� Ql�C-i A '9<1� 8 

'f-eR �C"lTiff� ,E4� A cl� C91 ..!)11.r Wfflt �'"'I 

C���8 

�C'1�. J\ r 2 7]
L 6 3 

C'ifOC4 � cl<!� �l"5T<15 �C�� <f.NJ � C-� f.fc:f1J � t 

Usmg dominance rule solve the folJowmg game 

2/lf:ITArn �en 2l'Gfl� <K<1 f.mn� c'>J"OO �.:nt:rR � 

B1 
A1 2 

Player A A2 4 
A3 7 
A4 3 

Player /3 
B2 B3 84 85 ------
4 
5 
6 

3 8 5 
2 
8 
7 

6 

7 

4 

7 

6 

2 

5 

Set up and explain a 'diet problem' as a standard example of a

linear programmmg problem. 5 

t�<i> <.ffi�.1-ffen '>l•Pm� .£J<11$ ·'5TJ11.cf (fl<f?i:� ���'l � �M �, 

f.f��l9� >!�Tit� �trc:1ll>--l1 <f)1-i I 

ii) Solve the following Linear Programming Problem with the help of
the Simplex method . 10

�c�� � >iT�rlllI Reo� 't�N� c211fflf.,� � �'11� ff--1

Minimize z· '"'4u � Bu+ 2w
lsubJcct to 2u t 2v t 4w >- 4

U + V + 2W � 6
u � O,v � 0, w > 0.
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West Bengal State University 

B.A./B.Sc./B.Com ( Honours, Major, General) Examinations, 2014

PART-III 

ECONOMICS - HONOURS 

Paper..:.. VIII 

( N ew Syllabus ) 

Duration : 2 Hours I [ Full Marks : 2·5 

Candidates are re�ired to give their answers in their own words as far as practicable. 

The .figures in the margin indicate full marks. 

� <T� ��ca,� <11,� I

� ����� 91_� � I 

Group-A 

�"f-� 

Answer any one question from Question Nos. 1 to 2. 

� ��� � � � i£l���QTC<l>R I.fl��� �·1 

1 x 15 = 15 

1. What do you understand by de-industrialisation of India during the nineteenth
centu1·y ? Explain its underlying causes and overall impact on the economic
development of our countrty, 3 + 7 + '5

��Xj Xj�� �F!:l'.,,<IC& '5l<IM$1HFl � f<I> � ? '5l<IM$1Blt-l?-I <15@'1��· '6 �TV'Br

� '51·� � �� �� 2l\5T<f <ffi� � I

2. What were the most significant changes in Indian Agriculture in the nineteenth
century ? Explain the causes for these changes and evaluate its overall impact
on Indian economy. 10 + 5

��Xj "l\!5141t'!> � ·�� �91� ��,cf � C<l5F{�� ? i£J� ���

ffl"I <m� � ��� � \!if� � w� \£1� �.,�m � �

��I
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Group- B 

�� - ,af 

ECOA(HN)-08 

Write short notes on any two of the following: 

� C<l>R � � �9@ "f�N� � �� I 

a} Economic Drain Theory

'51'� R$l1'R � I

b) Railway vs Irrigation controversy.

'�9f���·-�

c) Causes of commercialisation of agriculture during British rule.

� � '1� ffieil<P?lt� <Wl'l'l� I

d) Decline of handicrafts in India.

�� �Q!MC$1?1 � I

2 X 5 = ]Q 
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